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Start GMT 11−February−2006, 042/22:00:13.000

Progress 20P Reboost
SSAnalysis[ 0.0  0.0  0.0]

Increment: 12, Flight: 11S

0.0625 sa/sec (0.01 Hz)

mams, ossbtmf at LAB1O2, ER1, Lockers 3,4:[135.28 −10.68 132.12]
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Start GMT 11−February−2006, 042/22:00:13.000

Progress 20P Reboost − Reboost Attitude

Reboost Attitude[ 0.0 −293.6  0.0]

Increment: 12, Flight: 11S

0.0625 sa/sec (0.01 Hz)

mams, ossbtmf at LAB1O2, ER1, Lockers 3,4:[135.28 −10.68 132.12]

Mean =  86.3 µg

∆V = (( 86.3*1e−6*9.81)* 9.33*60) = 0.47 m/s 

kellye
Rectangle

kellye
Note
Note:  Adjusted attitude to match that listed in Attitude Timeline during reboost.  MAMS transformation method is opposite from ATL (thus the negative sign in front of 293.6).




